| Efficiency vs Dxy |
>0.02
Pas

0T SR S N S e s
> - 5 5 ; 5 5 5
L S I S S
e 5 5 5 5 5 5 5
B.014f-hooe oo o o S
= C : : ’ : : :
0.012f e o S + """" A
o
R e e ot e
01071 SRS SRRSO SRS RS
e S S s e
0002+t

1.9

Ratio

505 10 15 20
TP dxy (cm)

0955151

—a— B :g llgl Yb&é”dlveblul lUUUEVl
| Efficiency vs Dz | | =T E tg
— —C

~0.05 :%gg %%%ié%ﬁ FELRYLTLIERS 1000evt

D.045F
> : : : : :
ot Lot RIS SEe S
= Y

bo
(D] N N N N N

Y Mhhq—
0 ey e s R

0.02:— """""" ------- . -------- I
0.015F ------- " H ++++

0.0 — IEALNS R
0,005+

o

093556 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


